Die Zahlen WMCﬂiBHVIKVIJ

0= null, sy A\ % 12

1 = eins, 0.0UH
2 = 2wei, nBa

3 = drei, Tpu 7] @
4 = vier, yoTnpm ﬁ\%

S = finf, n'sTo

6 = sechs, wicTb
% = sieben, cim

8 = acht, sicim

9 = neun, oeB’aTb
10 = 2ehn, necstob

1 = elf, oomHanusTo

12 = 2wolf, nBananusth

13 = dreizehn, TpuHa.oUITD

14 = vierzehn, YoTMpHA.OUATD
15 = funfzehn, n'sTHaousTh

16 = sechzehn, wicTHaoUSTb
1% = siebzehn, cimMmHaoUSTD

18 = achtzehn, BiciMHa.LUSTD
19 = neunzehn, neB’aTHALUATD
20 = zwanzig, ABALUATH
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Die Zahlen ‘4VICJ'IiBHVIKVIJ
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21 = einundzwanzig,
A48a40UlTb 04UH
22 = zweiundzwanziq,
A48a40UdTb OBa
23 = dreiundzwanziq,
DBanysTh TpH
24 = vierundzwanzig,
DBaOUSTh YOTUPU
25 = fiinfundawanzig,
DBaOUITh N'STb
26 = sechsundzwanzig,
0,B82.40UsTb WiCTb
2% = siebenundawanzig,
ABaausTb CiM

VL

28 = achfundzwanzig,
083 0UITb BiCiM
29 = neunundzwanzig,
NBanysTh O,eB'dTb
30 = dreifig,
TPUOUATD

29 24
S0
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Die Zahlen YUCNIBHUKNU
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31 = einunddreif3ig,

TPUAUATD O0MUH %& 3 @

32 = 2weiunddreifig,

TPU.OUSTh [OBa
33 = dreiunddreifig,
TPU.OUATb TPY
34 = vierunddreifig,
TPUAOUATb YOTUPU
35 = fiinfunddreifig,
TPUOUSTb N'STb
36 = sechsunddreif3ig,
TPUAOUSTb WICTb
31 = siebenunddreifig,
TPUOUATb CiM
38 = achtunddreifig,
TPUAOUSTD BCiM
39 = neununddreifig,
TPUOUATb O.eB'STb
40 = vierzig,
COpOK
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Die Zahlen WMCﬂiBHMKMJ

P‘

QOOO = eintausend, Tucsua

10 = 2ehn, necartb

20 = 2wanzig, ABaAUATD
30 = dreifdig, TpnAauaTh
40 = vierzig, copok

50 = fiinfaig, n'stoecar
60 = sechzig, wictaecsr
10 = siebzig, cimaecar
80 = achtzig, Bicimoecsr
90 = neunzig, AeB’sHoCTO
100 = einhundert, cTo

101 = einhunderteins, cTo o.ouH
102 = einhundertzwei, cTo oBa
103 = einhundertdrei, cto Tpu

200 = 2weihundert, oBicTi
300 = dreihundert, Tpucra
400 = vierhundert, yotupucra
500 = fiinfhundert, n'stcot
600 = sechshundert, wictcot
300 = siebenhundert, cimcor
800 = achthundert, BicimcoT
900 = neunhundert, nes'stcot
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Die Zahlen WMCﬂiBHMKMJ

P‘

1000 = eintausend, Tucsua

2000 = 2weitausend, nBi TUCSUI
3000 = dreitausend, Tpu TUCaUi
4000 = viertausend, YotTnpu TUCIUI

10000 = zehntausend,
0,eCaTb TUCSY

100 000 = einhunderttausend,
CTO TUCSU

1000 000 = eine Million,

O0OUH MiJIbAOH






